A O 0203/2048/0622

Il Semester 3 Years LL.B./VI Semester 5 Year B.A., LL.B./B.Com., LL.B/
B.B.A., LL.B./B.A., LL.B. (Maj.-Min. System)
Examination, March/April 2024 (Odd Sem.)
PROPERTY LAW

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any 5 of remaining
questions.
2. Q. No. 9 carries 20 marks and remaining question
carries 16 marks each.
3. Answer should be written either in English or Kannada
completely.

Q. No. 1. Define immovable property and state the condition necessary
for transfer of such properties.
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Marks : 16

Q. No. 2. Explain the meaning of the term ‘notice’ and distinguish
between actual notice and constructive notice. Marks : 16
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Q. No. 3. Who is an ostensible owner and when the transfer of

immovable property by an ostensible owner binding on real
owner ? Marks : 16
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Q. No. 4. Explain the doctrine of ‘lis-pendens’ with the suitable
illustration. Marks : 16
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Q. No. 5. Define sale. Distinguish sale with contract of sale. Marks : 1¢
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Q. No. 6. What is mortgage ? And comment as to the right to redeeming
up and fore-close down are co-extensive ? Marks : 14
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Q. No. 7. Define trust and how trust is created ? Marks : 1g
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Q. No. 8. Write short notes on any two of the following : Marks : 2x8=1g
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Q. No. 9. Solve any two of the following problems : Marks : 2x10=20
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(a) ‘A’ transfers his property to ‘B’ in trust. For ‘A’s life and the

life of his intended wife successively and after his death

for the eldest son of the intended marriage for life, there

after for ‘A’ s second son absolutely. Decide the validity of
the transfer.
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(b) ‘A’ makes a gift of all hig properties to his brother-in-law.
However he makes no mentioning of his debts. Is any
remedy is available to the creditors ? Decide.
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(c) ‘A’takes ahouse on lease from ‘B’, thereafter he alters the
house by adding 2 rooms to it without the consent of ‘B’
and sub-lets to ‘C’, What remedy is available to ‘B’ against
‘A’ and ‘C’ ? Decide.
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